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Reasoning Mega Quiz for SSC Tier-1 (Solutions)

S1. Ans.(d)
Sol.

S2. Ans.(d)
Sol.

325—=3+2=5
437 —=+4+3=7
2d6—=2+4=58

S3. Ans.(d)
Sol. Except 173 other three are divisible by 3.

S4. Ans.(b)
Sol. Increasing sequence of file sizes.

S5. Ans.(c)
Sol.
2 +2 47 +2
1 1 1 1
BE D E G H | K M
l ] 1 | | |
+1 +1 +1
S6. Ans.(b)
Sol.
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S7. Ans.(b) SSCCGL 2020-21
PRIME
18 25 34 45 58
L I I 1| I
+7 +9 +11 +13

e 500+ TOTAL TESTS
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S8. Ans.(c)
Sol. (M% (M (7% (7)*

S9. Ans.(c)
Sol.

Let age of Ram be ‘R’
Age of his son be 'S’
Age of his uncle be ‘U’
483 + U
"3
U=120-48
Uu=72

=40 (AsR+ S = 48)

S10. Ans.(a)
Sol. Accord — Accuse — Acquire — Acquisite

S11. Ans.(b)

S12. Ans.(b)

Sol. Cloak Room is the place where suitcase is kept.
Same as

Bank is the place where money is kept

S13. Ans.(a)
Sol. 3-2-1
3-4-5

S14. Ans.(a)
Sol.

115 124 134 145 157 170
+9 +10 +11 +12 +13

S15. Ans.(c)
Sol. They are not synonym.

S16. Ans.(c)
Sol. MS-DOS is a non-graphical command line operating system derived from 86-DOS that was
created for IBM compatible computers.

S17. Ans.(d)
Sol. Except EM], all are methods of quick transfer of funds.
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S18. Ans.(b)

S19. Ans.(d)

Sol. Sam - 10hr
Shyam - 8hr

Ram - 5hr

Neither I nor II follows

S20. Ans.(d)
Sol. As sun is a star, similarly
Moon is a satellite.

S21. Ans.(d)

Sol. 434+ 4:534+5::634+6:734+7=3434+7 =350

S22. Ans.(a)
Sol. There is no vowel.

S23. Ans.(a)
Sol.

Correct sequence is -
Foliage — folk — follicle — follow

S24. Ans.(a)

Sol. The difference between numbers -11, -13, -15 & -17 so, next no. is 424 - 17 = 407

S25. Ans.(d)
Sol.

Make family tree.
+ -
Xe—aY

We—>Z"

N

S26. Ans.(a)

Sol. First is disease, second is cause.

S27. Ans.(b)
Sol. 78363 is divisible by 9.
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S28. Ans.(d) BILINGUAL

Sol. Except ‘PL’ others are opposite pairs of each other. .
- SSC & RAILWAYS
Sol. These are petroleum products. pRIME TEST p ACK

S30. Ans.(c) CGL | CHSL | NTPC | Others
Sol.

+1 +2 +1 +2 +#1 +2 +#1 +2 1000+ Total Tests

I I +3 I I +3 +3

MNP STV YZB *>E F H 12 Months Validity
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